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932  825(0D)
. 2020.

SOCIAL SCIENCE
( English Version )

‘Time : 3 Hours 15 Min. ] | Max. Marks : 70
Note: First 15 minutes are allotted for the
candidates to read the question

paper.

Instructions :

i) This question paper is divided into
' two Parts A & B. Attempt all the
questions of each part together at

- one place. Each part should -be

attempted on a new page.

XXI11667 [ Turn over
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iij Marks 'allbtted for each question are

mentioned against them.

_iii) This question paper contains four

types of questions — Multiple-choice
type, Very Short Answer type, Short
.J'-';gnsw;;r type and Long Answer Lype.
Instructions have been given at the |
beginnling*df each type of ques.tion.'

Attach firmly the supplied maps for

Parts — A & B to your answer-book.

. For | vision—impaired examinees

Question No. 1‘4 in Part-A and

Question No. 28 in Part-B have been

A - - " rs
given separately for writing answet

-in lieu of map work.
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PART - A | 4. Who waé;-;thﬁ founder of ‘Bahujan Samaj
( Multiple Choice Type Questions ) | IPar ty?
Instruction : Choose the correct answer from a) Kanshiram
o the given alternatives and write ' b) -Ma}’aw_ati '
in your answer-book : c) Shahuji Maharaj . :
1. Who ﬁas the. founder of ‘Young Italy d) Mulayam Singh Yadav. 1

Societjr’ ? 5 When did Mahatma Gandhi begin the

a) Garibaldi b) Bismarck Non-Co-operation Movement ?

c) Cavour d) - Mazzini. 1 a) 1919 A.D.
2. French Revolution took place in b} 1920 A.D.
a) 1788 A.D. g 1922 A.D.
b) 1789 A.D. oy
| d) 1924 A.D. .
c) 1790 A.D. . ' :
. d} 1787 AD. ' . '6. How many languages are included in the
: 1 A.D. 1 : e
_ ) _ - Eighth Schedule of the Constitution of
3. . Indian National Congress was India ? '
established iri | . _ '
_ . | . ' a) 20
a) 1882A.D. .
S : : b
b) 1884 A.D. | | IR
) 1885A.D, o - o 24 |
.d) 1886 A.D. | o 9 26 . o
- XX1667 [ Turn over - XXII667
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( Very Short Answer Type Questions ) ( Long Answer Type Questions }
7. When and why was the Non-Co- 12. How does democracy constitute .51n1;1;:1t1rej
| operation Movement withdrawn ? 1 + 1 reSpGnSIble and legltimate gwer; +2+2
: . _ Explain.
8. Mentlon ar}y four subjects in thle OR
coneurrent st %+ —;+; i . Write three conditions for the success of -
9. When and where did the meeting of the | democracy in India. 2+2+2 -
.Vic:nna Congress take place ? 1+ 1 13. Explain the reasons for the G-re:;t
( S_hort Answer Type Questions ) depression. 6
10. Write three r;:-asons for the rise of Indian | OR
Nationalism. 1+1+1 - Evaluate Gandhiji’s contribution 1o
OR '-  India’s freedom struggle. 6

( Map Work )

What ié Federalism ? Write its main _
' Instruction : In the given map of India locate

features. , 1+2 the - following places by the

11. How caste can take many forms in symbol ® with names. For

-politics ? Explain with examples. 3 correct mention of name and
OR lucationé, % marks have been
Name the three leaders who played anl . ' allotted.
important role in the uﬁiﬁcation of I.taly. o ' 4.1 Zhe place where the Congi:srs
14141 ] ;g.éerence was !-:1eld in Decer?jg
X667 2
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The place where the Jallianwala

Bagh incident took place. é+ ;

The place where Congress Session

1

was held in 1929. - 1y1
2 2

The place where Gandhi broke the

1 1

salt law. 24+ 2
22

The place where Gandhiji led the

Peasants Satyagraha in Bihar.

( Only for visually impaired examinees in

Instructi

14. i)

L XX11667

lieu of Map work )

on: Write the answers of the
following questions in lieu of
map work in your answer-book.
Do not use map.

Where did the Congress anference

take place in December 1920 ? 1

Where did the Jallianwalla Bagh

incident happen ? 1-

[ Turn over
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iii)

Where did Congress session take

place in 1929 ? 1

Where did Mahatma Gandhi brt?ak
the salt law ? 1
v)] Where did Gandhiji lead the

Peasants Satyagraha in Bihar? 1

PART - B
( Multiple Choice Type Questions )

Instruction : Write the correct answers from

15.

16.

17.

.¢) Solar energy

the given options and write it n
your answer-book.

The agent of soil erosion on the

mountains is

a) Wind - b} Glacier

cj Water _ d) Pasturing. 1
Which is ‘Rabi’ crop in the following ?

a) Paddy b) Bajra

¢) Wheat . d) Maize. 1
Which of the following 1s non-
conventional energy source ?
a) Coal b) Petroleum

d) Natural gas. 1

XXII667
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18. Which is mineral based industry in the
following ? '
a) Cément
b) Cotton Textile
c) Sugar
d) Jute goods. 1

19. When was World Trade Organization
established ?

-a)  lstJanuary, 1993
b) 1stJanuary, 1995
¢] lstJanuary, 1990

- d) 1stJanuary, 1985. ' 1
20. Source of production in the following is
a) capital b) profit
c) services d) tax. . 1

( Very Short Answer Type Questions )

21. In which state is ‘Kodarma’ situated ? It

is related with which mineral ? 1+1

22. What is called a ‘self help g'roup’ ? 2
23. Deﬁne-érganized'sector. 2

- XX11667 o [ Turn over
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24.

25.

26.

( Short Answer Type Questions )

: o it
What is biological diversity ? Describe 1S

i 1+ 2
importance in human life.
OR . |
: ity of
Write a short not¢ on the necessity
3

mineral conservation.
n ? Write any one
2+ 1

What is globalizatio
advantage of it.
OR
Suggest any three measures to attract
foreign investment in India. 1+ 1+1
( Long Answer Type Questions )
Discuss any three salient features of
foreign trade in India. 2+2+2
OR
What do you' understand by
environmental pollution ? Throw light on

the impacts of industrial pollution on the

enviranment of India. 2+4

XXI1667
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;7. Discuss the contribution of mineral
. ra
based industries in {he

€Cconomic
development of India. 6
OR
Describe any three salient features of
developed countries. 2+2+2
( Map Work )

Instruction : Show the following on the
given map of India. For

correct pointing and

correct name ;, —; marks

are given.

- 28. i) Tehri Dam with M sign and name.
' iyl
2 2

i) Satpura mountain with /X\ sign

141

and name. . 373
ii) One centre of Cement Izlldusti'}r with
® sign and name. %"’ %
v) An International Airport of North

141

India with A sign and name. 27 5

i RXliee7 | | [ Turn over
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'v) One sector of production

) T+ _
- Manganese with sign and
), ]
L
name. 5 2

of

( Only for vision-impaired examinees in
lieu of map work }

Instruction : Write answers of the following
questions in your answer-book.
Do not use the map.

28. i) On which river is Tehri Dam
constructed ? _ 1

ii). Write the name of a mountain of

. southern India. -1

iiij Write the name of an important

centre of cement industry. 1

iv)] Write the name of an international

airport of eastern India. 1

v) Write the name of one important

‘Manganese producing area. |

e —
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